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Indefinite integrals

∫
xn dx =

xn+1

n+ 1
+ C for x ∈ R, n ∈ Z, n ⩾ 0

∫
xn dx =

xn+1

n+ 1
+ C for x ∈ R, x ̸= 0, n ∈ Z, n ⩽ −2

∫
xs dx =

xs+1

s+ 1
+ C for x ∈ R, 0 < x, s ∈ R, s ̸= −1

∫
1

x
dx = ln |x|+ C for x ∈ R, x ̸= 0

∫
ex dx = ex + C for x ∈ R

∫
lnx dx = x lnx− x+ C for x ∈ R, 0 < x

∫
sinx dx = − cosx+ C for x ∈ R

∫
cosx dx = sinx+ C for x ∈ R

∫
tanx dx = − ln | cosx|+ C for x ∈

⋃
k∈Z

(
kπ − π

2
, kπ +

π

2

)
∫

1

cos2 x
dx = tanx+ C for x ∈

⋃
k∈Z

(
kπ − π

2
, kπ +

π

2

)
∫

1√
1− x2

dx = arcsinx+ C for x ∈ (−1, 1)

∫
−1√
1− x2

dx = arccosx+ C for x ∈ (−1, 1)

∫
1

1 + x2
dx = arctanx+ C for x ∈ R
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∫
sinhx dx = coshx+ C for x ∈ R

∫
coshx dx = sinhx+ C for x ∈ R

∫
tanhx dx = ln(coshx) + C for x ∈ R

∫
1

cosh2 x
dx = tanhx+ C for x ∈ R

∫
1√

1 + x2
dx = arsinhx+ C for x ∈ R

∫
1√

x2 − 1
dx = arcoshx+ C for x ∈ R, 1 < x

∫
1

1− x2
dx = artanhx+ C for x ∈ (−1, 1)

∫
1

1− x2
dx = artanh

1

x
+ C for x ∈ (−∞,−1) ∪ (1,∞)

∫
1

1− x2
dx =

1

2
· ln

∣∣∣x+ 1

x− 1

∣∣∣+ C for x ∈ (−∞,−1) ∪ (−1, 1) ∪ (1,∞)

In this list C denotes a constant.


